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‘Read"the followitig: frequency’ &

‘for two series of observations. eﬂd gnEwWer

the nm items that follow

T I Frequency ,
Tass terwzl '
C s - Series-I | Series-lI

o | 2 | 4
| 2030 } 15 g
1 a4 | w4
Cse60 - | oy | Y
Total | 100 | 100

1. What:sthemeanoffrequencyd:sm

butlonofSenes—I?
N

© 376
@ 396

2 Whatlsmemodeoftheﬁ'equemy
dxstﬂhutmn of Senes-]I ?

(a)..26
@ 3%

@>s . =

| Showroom | 4 B{C|D|E

| SZ(in%) 24 182_0 ,30i-8" 3000 |

Directions fa‘.-aefmymmm : o
“_Mthefollowmgmforméuonandanswer_, '
the four 1temsthat follow : - .

 Let the distribution of mmlber of scooters of
_ companies X and ¥ sold by 5 showrooms .

(4, B, CDandE)macertmnyearbe

 denoted by S1 and the distribution of umber
. ofscootersofonlyoompanstoldbythe S
'_.ﬁveshowroomsmthesameyearbedenoted =

byS2 :

Total number
' |of scooters sold

s1n%)-[19|21]15]33{12] - 6400

3. Number of scooters ofeompany Ysold
byshomoomElswhatpercmtofthe
number of scooters of both companies
sold by showroomC? -

(a) 52 ‘7 o
- b) 54

R

| (‘d). 56

4. Numba' ofsoooters ofboththecompa-
- nies- sold by n B is what per
cent-more than the of scooters
ofcompanstoldt?yshowmomA ?

@B

© 6}
e
i

| C-SDHY-LMTH
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, wg&ﬁraﬂﬂamm% ?
(a) 461%

" ®) 451%

) 426} | o
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@ 416 |

() 426
(c) 432

@ 436
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: mi _2014 2015 | 2016 | 2017

12330 | 13894 [ 15746 | 20457 |

@ | 4097|3125 25.8,'5‘.__'3559_

*  SDHYTMTH-C

7.

'dzowiuﬁﬁauﬂﬂiﬂﬁm&ﬁf

- ,‘,‘«ﬁahmrmwdii .

- (a) 51

®) 53

() 54
@

.2014-171& m&ﬁﬁmm&ﬁé}' e

mmiwﬁﬁﬁmr'

T A
() 66% |

o 6%

o © N%
'(d) 76%

.ﬁzonﬁmgﬁzmﬁﬁﬂamnﬁ f

aﬁmmﬁﬂmmm

. .g? 7
@ 16

@ ' 147 |
@ 134'- -

. 10.
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5. What - is the average - number of
scootersofcompany Ysoldbythe
'showrpomsA_CandE?‘

(@) 4614
®) 4314 |
©) 426%

@ 46}

6.Whatlsﬂ1ed1ﬂ'emnce between the”.'

. number of scooters of both companies

soldbyshowroom.{andtotalnumber-
. of -scootérs . of company X sold by .

showroomsBandEtogether? '

@ 416

() 426
(© 432
@ 436

Directions for tlwfoﬂmving four (04) items :

Readthefollowmgmformatmnqlldanswer" ®) 1527 -

the four items that follow :

The data shows that Indian roads are tuming -
'deadherovertheyem-s e

Year

2014

2015

2016

| 2017 |

46070

52750

| Number of

112330

13894

15746

| Number of

cylists kilied | 40%7

3125

2585

1559

48746|

20457| -

7.

What was: the aVeiage:nux-uber'o'f
pedesmanshlledperdaymtheyearj~

.2017?

@ 51

“®) 53
() 54

@ 56 |

8. What is’ the apprommate percentage'

change in the ims’ fatalities -

"dmng the penod 2014-17 9

. (a) 6%

® 6%

'(é)' 1%

(d) 76%

5 What is the average,numbe_r of bikers .
killed daily in road,aoci(_lents in the

-'year 2017 ?
(@ 163

" 10.

© 147" |

.l..'(d) 134

What is the average number of cychsts
killed dmly in road accidents in 2017 ? 7

@ 10

R
_---_(é) 19
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11,

Let 4 and b be two positive. real
'numberssuchthata«/_-i-b'f =32 and

aw/-+b-\/— 31, Whatlsthevalueof

Sa+d) ,

7.

~(a)5.

®7

@9
- @ Cmnotbedetmmed

12

Ifx=
'»whmhoneofthe follomngequanons? '

1+J_

"(a) 8y2 20y 1=0 -

-(b)_.8y2+gogz 1= 0

- (c)' 82+20y+1=0 |
@ sy2 20y+l“

k 13 HCF oftwomtmbetsmlz Whlchone", o

' ’ofthefo]lowmgcannevcrbethelr

LCM? =
@) 80
L ® 60 i
. (©) 36

o) 24
‘ 14. Consider the folleWiﬁg Statements:,-

‘1. Unit dlglt 17" is 7.
2. Dlﬂ'erenoe of the squares of any

-two odd numbers i is always d1v1s1- E

bleby8
3 _Addmgltotheproductoftwo

~ consecutive odd nmmbers makes it

a pm-fect square

'.Whtch of the above statements are
' QGOrrect?

| @ '1,_-2 and'3-_

® tmadely
() 2and3 only E
@ tad3only

N

- 15, The rate of interest on two different =
. 'schemes is the same and it is 20%. But

‘in one of the sch

"~ compounded. half
" other the interest

* . in the schemes. If the difference of the
1 returns after 2 years is | 432,thenwhat_ R

is the ptincipal ° axﬁount in eachy f
. schc? _ .

| the interest is

@ no,ooo_ -

o () 216,000

(c) ¥20,000

: 'ﬂ.(d)_' 124,000 e

16. Forwhatvalueofkcanﬂ:eexpmmon

x* + Jo — 7x + 6 be resolved mtauthree ‘

- linear factors ?
f'(a)_ 0
® 1

| @2 o

C -+ SDHY-T-MTH
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© 5

'1524
-'36927

@ 461?471?12#&03
(LCM)W%? |
5

1
10

20 -

@ 3

19,
Rtktl= OW@‘Gﬁ‘E E, Arw

IR wefremit x2'+5x+'6 =0 ¥R
A d 7
10

| 1-(a) —2 g ~—

BCELLE

3
10

(b) -m?

10

5 h
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| smermE-C

a‘sragﬂqmaﬁ

. ‘zn.‘A%Ba?tzso.oo o R R
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o) 00w
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17. X YandZstartatsmnepmntandsame” |

time in the same direction to run
around a circular stadium. Xcompletcs

, _amundmZSZseconds ¥ in 308"
. seconds and Z in 198 seconds. After

what time will they meet agam at the

: starungpomt‘?

(a) 26 minutes 18 seconds

o 42 minutes 36 seconds

18. What1sthe1.CMof*l§,

C® oy

19.

(a) T

@ 3

(¢). 45 minutes
(d)‘ 46_minute's' 12 se‘oonds -

\alu

o\lu:

s
1
_(°)_ 27

20

13 the eqnatlons x2+5x+6 0 and
2+kx+1=0 have a common root,

‘ thenwhatxsthevalueofk"

5 10

@ a2

2 3

20 Alent!‘25000toBahdatthesame

- A received T11200 ag interest from -

time lent some amount to C at same
7% simple interest. After 4 years

' BandC HowmuchdxddlendtoC?_'

| (a) tzoooo

| (b) 25000

© ?15000 |

(@ T10000 |

21,

one and a loss of 3

A trader sells two computers at the
same price, making a profit of 30% on

% on the other. -
What is the net loss or profit .

_ percentage on the transaction? )

(&) 6% loss

() 6%‘,g‘ain

@ s

- (d) %sait‘n'

22. Themonthlymcomes of 4 andBarem

the ratio 4:3. Each saves ¥600. If
ﬂlelrexpendmlresareinﬂlemhoS 2, -
thenwhatlsthemonﬂﬂymoomeofA?

" (a) T1800 .

(&) T2000

© 2400

@ 00

. C - SDHY-F-MTH
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27.

?ﬁﬂmiﬁlﬁx,ymzaﬁﬁﬁﬂﬂi

X o W E )R

-'-.".mi'@ﬁﬁ‘x,y z B P Q 3
R FEEH R aﬂtﬁﬂaﬁmn%msﬁ

xyzﬂ:’fm_LMaﬂTth'ﬂilﬁﬁw

%1 1R PQ=3cm, QR=Ycem 3K
- MN= IOSGm'B,?ﬁLMEﬁFHI'QW

SR

(@ 3em
®) 35¢em

,'-('c) 4 cm -
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23‘I‘hetramfareandbusfarebetween.

-two stations is in the ratio 3 : 4, If the
tramfaremcreasesby20%andbus

“fare increases by 30%, then what is the
ratioc between ' revised 1r_am fare and

| ‘l'remse_dbusfare? -
e %
(b):_;
kA
| @ ;_91 -

24. Whendemdedbyl? thequotlent

is equal to 182. The difference between
the quotient and the remainder is 175.
_ _Whatlsthevalue ofN‘?

@ 2975
&) 3094 .
(c) 3101
(@ 3269

5. A stock of food grains is enough for -
240 men for 48 days. How long will

_ thesamestocklastfm-IGOmm?
@ T2days

) c4days

() 60 days
(d) 54 days

26.

- ®

-2

A hn]low nght circular cyhndncal '

- vessel of volume ¥ vdvhose diameter is

equal to its height, is completely filled
with water. A heavy sphere of maximum

possible - volume ' is then completely o

immersed in the vessel. What volume of
water remams in the vessel ?

v

@ 7
14
3

Three-'para.llel"linjb&six, y and z are .
cut by two transversals m and ». Trans-

. versal m cuts the lines x, y, zat P, O, R

respectively; and Transversal n cuts
the lines x, y, z at.L, M, N respec-
tively. If PQ=3 cm; QR=9cm and
MN= 105cm,thenWhatlsthelength

- of LM? -

(a)-30m_

() 35em

28

() 4cm
(d) 4-5.cm

Theareaofasectqrofaclrcleof
radius 4 cm is 256 em?. What is the

fradmnmeasureofthemofthe-

.sector?

@ 23

® 32

() 33
d 34 .-
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@ mmaﬁﬁgﬁtmﬂm% .
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;nﬁ?ﬁﬁm,'qaiﬁ‘gmwc%aﬁwmc

Frexw femr &1
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1 fews BCRA

(a) AB<BX |
® 4F>Bx

| @ ax=cx
@ R

+ 1ogiof00s6) + log,fsing) + log;(fand) +

N loslo(cotﬂ)+losm(se°9)+loslo(°°sec9) |
WA ? .

(@ -1
®) 0

- (€ 05

32.

@1
Trﬁcdszx-l-oos.x. 18, ar

siniZx + 3sin% + 351n8x + sm‘x

- wmw%?
@1 |

®2
© 4

@k

SDHY T-iMTI-I

C

“&0<8<90° sing = 33ﬂ1x cotB -

A
1+3x+ 9x3+27x3+ 81x4+243x’ _
mnﬁm% ? -

| (a) 941- |

) 1000

) 1220

@ 1365 S

'(a)zhz
. (b) 2;,2..._2-

.34.mmmmaauﬁa;mi

(sreirmr) = frarr Tl Yo W R

o P R P A i % T
L TR w1 AR g

PR E ¥ smER 4 qRaf w1 ek
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© - =
~<d)zh2 Y

sml9° 00373"
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C(b) Its orthocentre lies - ohtsxde thef',

9, Which one of the following is correct
in respect ofanght -angled mangle‘?
(a) Its. orthocentre hes inside the |

tnangle

_ tnangle

(c) Itsorthocentrehesonthemangle

' (d) It has no orthooentre

Let the blsector of the angle BAC ofa
triangle ABC meet BC in X. Which one

' ofthe followmglsoorrect?
= ;,(8) AB<BX |

- 3L

@

) AB>BX
@ Ax cx
| '-';7__(d) None ofthe above

_What is the value. of logw(cusﬂ)+
* logyq(sin6)-+log(tan6) + log;ofcotO) +

log,(secH) +logw(¢;oseco) ?

- [3

®o
(c) 05
@

32,

jlfooszx+oosx 1, then. wha: is the
“value.of -

sm‘2x+3s1n +3s1n‘x+sm“x‘?

_' ® 1

®) 2

.13

@ s

@ 1365 _

_ 33.If0<9<90° smtih—i and x= cote

then Whatis the valug of |
l+3x+ 9x2+27x3+|81.x‘+ 243x5 ?

© 1000

© 120

S
o
g !

.Theanglesofelevationofthetopsof o

: ,twopﬂ]mofhe:ght#hanthfroma-

. pothonﬂaehnepmgthefeetof
', the two pillars are. ¢
- the distances of the foot

oftheplllars a

| 'ﬁ‘omthepothatbxandyrespec-'

tively, then which oﬁe of the following .
- s correct 7

7-(‘a). 2h2=x2y '.
JORZEPS
(¢) 2h2=xy

(d)' 2h2.=x?j'2- |

35,

What is the value of \Sln19° OOSFBO ?

oos?l" sm17°
_'.(a){ 0
ECRE
@z
_; © 4 | :
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(¢) 66em "

(d) 88 cm

39

amﬁgﬁﬁ ABcaﬂtPQRa:tr&m

TN 75 cm #R 50cm ¥ | AR P
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 (a) 8em? |
®) 5cm?
" (©) 36.cn?
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. PemsscmiRTmImw Am i E |

R rouswmiwmmRifip=x
AR Bp=y ¥ | Freafufe 3% ¥ SAeh

@ Y 4B & g fig 0ok

R A g Ry

@ x=65mdAy=65cm

() x.=12cm-3ﬂ'{y=-50m‘
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SDEY-T-MTH - C

@ x=-o'mna|_ky_='1'3 om

@ 45em

e A6 P T e v &
. Red Rt PRAIR QSR O

ofredg W ¥ AR P ors ©E

Y e
10cm®, @ Rt PR v w & 2

@ SV3om

41,

‘(b) 10J'k=m |

(c) ISJ_cm :

i(d)ZO\(—cm‘

‘@m%ﬁammﬁ%m -
. 'x,yﬁ(zﬁlﬂﬁmﬂmﬂ'?%. -
: a’rﬁﬁ%ﬁaﬁ%m@a@%? :

RCELE"
'.(b) Vi=pr
© Penz

@ V=2



36.Thcper1meterofamanglels220m._-r,

- 37
. ABCD are parallel and the diagonals -

Through each vertex of the triangle, a

triangle formed by these lines ?

(@ 33cm

() 44 cm

. (d) 88 cm

‘straight line parallel to the opposite |
" side is drawn. What is the perimeter of

The sides AD, BC of a trapezium -

AC and BD meet at O. If the area of

triangle 4OB is 3 cm? and the area of

triangle BDC is 8 cm?, then what is the

- arca of friangle AOD?

@ 8 cmz "

®) 5 cm?

(@ 36

(@) 18 en?

i 38, Aline segmcnt‘ABlsthe' dxametefbfa
. circle with centre at O having radlus -
"~ 65 cm. Point P is in the plane of the

circle such that AP=x and BP=y.

In which oné of the following cases

the point P-does not lie on the circle ?
(@ x=65cmandy=65cm

® x;é’l2cm‘alndj=50m

(©) x =15 cin and y =12 pm'

@ x=0¢mandy=13cm ..

15

) 410 '
- cuboid are x, y and z. Jf V' is the volume "

39.

The penmetets of two | tﬁangles .
ABC and PQR are 75cm and 50cm
respectively. If the . lquth of one side .

of the triangle PQR is 20 cm, then ~

what is. the length of comresponding

' _s:deofmemangleABC? |

: -(a) 25 cm

(b) 30.cm |
© 40 om

'.(d) 4Scm

JLetPQRSbea

dlagonnlsPRandQ intersect at 0. -
If triangle QRS is an equilateral

" triangle having a side bflength 10¢cm, -

thenwhatlsthelmgﬂ;ofihedlagonal o

_PR?

(a) 5-J§cm
(bi)m-ﬁcm -

(9 153 em
@ 20\3cm

The arcas of three adjacent faces of 8

ofthecubmd,thenwhlchoncofthe,

Vfollowmg is correct 7:

| _"-(a) V=‘m

FORCEE”

(c) 3 "=‘xyz. '

@ V=G

C — SDHY-T-MTH
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N

@

(wh&m)iﬁfmz% amm

'm%?

Jilz
3

l ‘ngz RN o

- ® T

© B

@ 2w’

43.

_4zﬁmﬁm§ﬁwﬁ#ﬁm"-

'gﬁ%qaﬁmﬁuaqﬁ% W?raﬁzmc“

w@vﬂv

@ ? om

®) Tem

{c) 8cem-

@ mﬂ?ﬁ‘*%ﬁ'\éﬂﬁ

,‘ma?hﬁrqp QaRR, 128 om _
g o ol S fig AR

Py POR Yyt F weg flggit
femaR ws e 4BC T AT S, @

2 et

ﬁ‘ﬂﬁABCﬂﬂ amwz‘m ?/

. (a) 4@1112

SDHY-TEMTH-C

© 16cm2 :

@

45

ﬂﬁmﬁmpﬁ'{qmgl‘ :
a1 pw Q) fig B oM, aik e
g R g DR EfT | Bk EF
ToRA 9l W@ ¢ R DA PR
T = il fig 4 w aforede wh 8,
N @Ewl pIERgFIM AR

AR’ AC:AD=4:9 %, & By ABC

- &R B ADEW® mmaﬁmw

7
@ 2:3

" ® 4:9

@ 16:81

46.
150° 91 @& W0 SR wwar ¥ AR
. wWEmewmasmAAg R

| maﬁsﬂmaﬂﬁaﬁﬁﬂﬁm-r |

@ 1:2

mmmmﬁawﬁ@f

¥ e P R @A
T A ¥ B S e AW

L@ 314
' (b)23

© 4J‘ :9

@ 23:9

47.
- ward A ¥ | Rl 10 2% e &
- &) R Rl f damEt oA
. 12cm ¥, aﬁma@aﬂm' |
.ﬁEIT-IT%'? ,

ﬁ:d’tmagﬁwaﬁaﬁmaﬁri

@ 9em?

o) izbcmz |
©) 16 cm?

@ e



2.

2
® Il_

If 1 is the length of the median of an

 equilateral mangle, then what is its

-area?

2
<)£’—.

(cj ngz |

_(dj 22

subtending an angle 150° at the centre.

. A piece of wire is in the form of a
~ sector of a circle' of radius 20cm,

 Ifit'is bent in the form of a circle, then 3
r'_what w111 be: its radlus ? ‘

19

(@ ?cm

@y Tem
'.(c) 8cm

' (d) None of the above

Suppose P, Q and R are themld-pomts"_‘

of sides of a triangle of area 128 cm?®.

' a triangle ABC is drawn by joining

.. .the mid-points of ‘sides of tnangle' _
. POR, thenwhatmmeareaofmangle .

“ABC?
@) dem?

) 8em?

(@ 32 om?

(c) 16 cm? 3

R

45

Lettwohnespandqbeparallel-
Consider two points B and C on the

f'hnepandtwopmntsDandEonthe

' line g. The line through B and' E

" in between the two li

intetsects the line throug
peand g. If

" AC:AD=4:9, then what is the ratio
" of area of triangle 4BC to that’ of

triangle ADE ?

' _-(a)- 2-:3

®) 4:9

(c) 16:81
@ 1 :'2‘

46. Anequﬂateralmanglegndasquareare'

- 47,

_ constructed using. mefallic wires of
equal length. What is the ratio of area
| '_ofmangletothatofshuare‘?
- (a) 3: 4
@) 2:3
© #E9 B
@ 23:9
Allthefommdesofapmllelogrmni‘

are of equal length.

*lerigths of the diagonalsis 12 cm, then

what is the area ofﬂldpam]lelogram ?

@ 9 em?

®) 12_cm2

() 16 em?

(d) 25 cm?

 C-SDHY-T-MTH

CandDatd

e diagonals are
“in the ratio 1:2. If the sum of the



48

mmﬁw%ﬁwmam‘

1R AB=5cm M BC=10cm T,

ﬁrwﬁia%wmzﬁwaﬂﬁt?—mﬁ |

i

@ 4em

- 49

‘ 7..__(b) 2‘\]50111 .

(0) T

o __(d) 8cm |

@ 2:43
@ 432

- _' (a) 32% ’

E ® 0%

 SDHY-T-MTH-C.

(©) 25%

‘.(_d). 15% -

.-mmmﬁaﬁﬁiﬂzﬁ._' ,
2: 3tmﬁ%|tﬂ#ﬂanaﬁm o

'(a) 43:1

. T T & waré- AR a‘lm“._m:
© 20% 3R 10% w5 & Il & ) A F
: Mﬁﬁmmq&ﬁ%? -

; 1;_;_'

-1

53.

m A W E W R

o @mwtwﬁm 3

10cm ¥, & @ ¥R % @R B
‘_mmmmt? |
€ l(lOc:m2
®) 50 cm?
() 25 cm?
T @ 10cm?
fsz.qmwfmmmw%ﬁssﬂ%
| tﬁizolmﬁwaﬁqaigﬂﬂﬁa-

ilw%aﬂmﬂaﬁﬁiéﬁm% \

| _;(a) :7

© 20:19

| -(d) 19:20

| :@mgﬁw%aawmm 20cm%3ﬂ<
YW % ger 8w 1000 o ¥ |

ﬂmmmﬁmr%?

T (@) 4000
. (b)- 4500 cnr?
(c) 5000 cm?

) 5200 om® |

-‘ummt{wmﬁmﬁm 33cm%

P IR S F e

. e wmwTd?
(a) 75° S
B ) G

© 135°

(@ 150°



48.ABC1samanglenghtangledatB i

.AB=5 cm and BC= lDom,thmwhat' '

is the length- of the ‘perpendicular

_drawn from the vertex B to the .

hypotenuse?

A (a)4cm~"

(b) 2J_cm

(c) T

(d)‘ 8 cm

the ratio of their radii 2 _
(a) «I'l
(b) «/” J—
@ 2:«5
@ A3 2

49. Twocylmdersofequalvolumehave o
' thelrhelghtsmtheratloz 3. What:s: '

S&Thelengthandbreadthofarectangleg

: are increased by 20% and 10%respec-- '

L .twely Whatlsiheperomtagemcrease
_m the a.reaofthe rectangle? .

- @ 2%

@) 30%
@ 25%

@ 15% '7

T i

s1.

If the length ‘of thé hy]itotenuse of a’.

“right angled triangle is 10em, then
* what is the maximug:area’
ngh_tangledtnangle?

of such a

@ 10

© Bom?

are lying on a circle of r
"+~ 'What is the ratio of ;
- that of square ? -

®) 50 em?
@ 10 cm?

ius 201 mm.
of circle to -

. A square is drawn sucl;j'? its vertices

.. (a) 11;2.7

(c)2019 |

® 7:11

@ 19:20

“(c) 5000 cm?®

A nght cm:ular cylinder fha& a dlametm' '
ofzocmandltscmvedsmfaoeareals

1000 cm?. What is the volume of the
cy]mder? o

@ 4000cm3

(©) 4500 em® -

”“'(d) 5200 cm3

'Aplmofmofhnghsammm -
_mtoanarcofamrcleofradlus 14cem.

" What is the angle subtended bythe arc

‘atmecentreofthe clrcle?

: "(a)_ 75°
.. (b) 906_ 7

(€) 135°

@ 1500

C- anY-T-M'rH, [



o fem wr &, @ W
ax3+bx2+cx+dmﬁla,b caﬂ'(d-

. '%mm ’am%? :

 57. |
#R 16em &1 T Avea P

@ 1,

2,3, 1
®) -1,2,31
© L,-2,-3,-1
@ -1,2,-3,-1

qasﬁngﬁgwqm 30cm,23cm

'asﬁqeﬁnumasmﬁ

58.
- © 001995)8 amrﬁwr% ?

() 10757 '

{a). 105547 -

AT Rt ?

(& 37,11,28, 16
(M) 21, 30, 28, 7
(© 37,21,1L,9
@ 37,21,9,7

ﬂﬁlogmms 33000% a‘T

1

.

1
(C). _1003215

1.

@ 1003735 .

SDHY—T-MTH c

. PR T O o % A

55
¥ e rfemT A w W S
_ mﬁ#m%wﬁm%?
@ 12
- () 2:5
© (e) 2:3
d 3:5 : . .
56. 9= x‘ x2+7x+5 @ (x+2) %r-_ |

59, (x a)(x b)(x c)ﬁma:m%?

(a) x’-(a+b+c)xz+(bc+ca+ab)x—abc ’
(b) .x3+(a+b+c)x7~l-(bc+m+ab)x+abc

(c) x3-(bc+ca+ab)x2+(a+b+c)x-abc, |

(@ x3+(bc+,ca+ab)x?—(q+b+0)x—¢bc

mwmﬁmamg
R xy=7cm &1 R fom oW

mA-a 'E?flogloA“ﬂ'ﬂﬁW%? :
(fem o R 7% log,p1050 =3-0212 3%
log,'o35 1 5441) S '

(a) 53070

(b) 53700

(c) .5-5635

(d)- 56535

slmmmemmﬁ

iR =W AN 6em I dem ¥ |
30 T # ReaR 8 cm R =W

N mﬁ@@ﬁvﬂaﬁaﬂmm%l |

RS
(a) 4-75cm“

(b) 550 cm. -

(@ 625em

. @ 6T5em

" 20 |



Whatlstheratmoftheareaofasquare '

inscribed in a semicircle of radius r to.
theareaofsqum'emscnbedmac:mle,

of radius r?

@1 2

® 2:5
(© 2:3

'(d)ss'

56.

The quotlent when x‘ x2+7x+5 s

divided by (x + 2) isa® + b + ex +d.

: 'Whatareﬂmvaluesofa,b cand d
,respecuvely? ‘

®
- ()

@ 1,-2,31
-1,2,3,1
1, -2, -3, -1

@ -1,2,-3,-1

The sides of ‘a triangle are 30cm, -
28 cm and 16, cm respectively. Tn order
to determine its area, the logarithm of
-which of the quantities are required ?

(@) 37,11,28,16

. (b) 21,30,28,7
v (e) 37,21,11,9

58.

(d) 37,21,9, 7

Iflogml995 3- 3000 then what is ther- N

~ value of (0- 001995)8 ?

®

| (Q).'

(@)

(d)

1
_100' 3475
_—1003375

1 ;
1!, 00?27‘5“ '
1
1Q"375 ‘

u

. 59 Whatls(x a)(x b)(x c)equalto?

@ x’—(a+b+c)xz+(bc+ca+ab)x-abc

: .(b) ;3+(a+p+a)f+(bc4»ca+ab)x+abc -

(c) 'Ix’_.(bc+ca+ab).1-cf2+.(a+b-l-q)x-.-¢ibc
) ‘x3+(bc+ca+al.)_-)‘xi"~(a+b~i—c).t—abc.r‘

Lét XYZ be an. equilateral triangle in

" which XY= 7 cm. If 4 denotes the area .

of the triangle, then what is the value

" of logg4*? (Given that log;y1050=

30212 and log,o35 1. 5441)

@ 53070

61.

| . (b)) 53700
(@ 55635
-(d) 5-6535' |

A hollow sphere of exte_mal and
_internal diameters 6cm and 4cm

respectively is melted into a cone of

s &basedmneterScm.Whatlsthehelght
o ofthecone? :

- (a) 475 cm

) 550 em

@ 675cm

o © 625 cm

' C- SDHY-T-MTH



6

"‘.'#mﬁﬁﬁtmﬁé%ﬁﬁﬁ; |
IOmtlam(m)gﬁumﬁ-
'mq&mz? R

() 25%

ﬂ@m@ﬁaﬁmﬁaﬁﬁﬁﬁf

10 cm' AR Bm 6 cm &, = fewmR

ﬁﬁmmtﬁﬂ%ml 2

) 50%

. 63.

TR TR AR GWEIN
_ 68.

© 5%
- (d) 100%

w&wmﬁaw(mm"

Yo ot ¥ ) M wH o 1Sem

ahmﬂgwﬁrahaﬂqu&qmw' |

who

. @ 240em
©) 25m

{(c) 113 cm
@ N2em

- 6T,

.\myaﬁr@mwaﬁrm'

warat f @ B9 i W R e

AR R 1w | W OUER W e

ey

.@ﬁﬁ$ l

ERRCEL A

- @ 43#@2 o

SDHY T-MTI-I

c

- (R %) w1 & e

=3

6.

w e (‘aﬂ’fﬁm) ABCD W ﬁﬁn B

fifirg, et 4B 9% CD iR €, E
AD, ABR A 21 R wea ™ .

ARt RNABRERIR DR

. FR@fwad, st EB=25cm 3k .
< FC= 16cm% ﬂriﬂwmw%? |
(2 16em

(b) 25 cm

o (e} 36em
: (d) 40cmﬁ

6. |
. %?ﬂﬁﬁﬁiﬁfﬂﬂﬂﬁﬂ@wﬁm,f |

3m,4cmaﬂzscmﬁmaﬁmaﬁ

'mm%lmﬁﬁmw%? -

(a) 120m
®) 10cm
(c).8cm

) 6cm j

w awé-h%rmr AR 155232_cm2% -
waﬁﬁiﬁﬁmw% 7

@) em

(b)) 2cm

.-'(c)" 38 cm -

@ 36em |

@m@ﬁg@%mﬂy

aﬁ!’r F R - e %, =
- 6cmant12cm'§:wﬁawa£r

#némn%,zhwﬁrm(aﬂwrr)f |
- wmée

(@) 535 cm?

(b) 462 e’
(©) 234 cm’®
@ 166 e



62. A solid metalhc cyhnder of helght

10cm and radius 6.cm is melted fo

_maketwo cones in the ratio of volume
1:2 and of same height as 10cm.

‘ Whatlsthepercentagemcreasemthe |

- flat surface area?
(a)' 25%
- ®) 0%
(c) 75%
(d) 100%
* . 63. If one side of a ﬁght-mgléd ﬁfiéngle
- (with all sides integers) is 15cm, then
: what is the maximum penmeter of the
. tnangle? |
:' (a) 240—cm ‘ |
() 25em
(c) 13 cm

@ 12 m

_64. A thin rod of length 24 feet is cut into

"rods of equal size and joined so as to

' form a skeleton cube. What is the area -
,ofoneofthefacesofthelmgestcube _

thusconstmcted?
@ 25 square foct

© 24 squar o
T ©) 9 square fect |

(d) 4 square feet |

65, Consider a trapezium ABCD, in which

AB is parallel to CD and AD is

perpendicular to AB. If the trapezium -
' hasanmclrclewmchtpuchesABatE' :

.and CD at F, whereEB 25 ¢m and

- FC= lﬁcm,thenwhatls the. dlameter'
o ofthecn'cle? '

(a 16 cm .

(b) 25 cm

(c)'36.c:;m' :

(d) 40.cm-

66, Three copper spheres of radii 3@ o

_ 4¢m and 5 cm are melted to form a
~ large sphere. What:sxtsradms"

(& 12 cm
(b) 10 cm
(c) 8cm
(d) 6cm

' 67. The volume of a :hemisphere is
155232 cm®. What is. the radius of the. - -

hcnnsphm'e?
. @ 40cm
. (b) 42 cm
-'-(c) 38 cm

4

@ 36em *

68, A bucket is in the form of atruncated '

. -cone. The diameters of the base and

. top of the bucket are 6 cm and 12 cm

respectwely If the helght of the bucket

. is-7 cm, what is the ,capactty of the‘.“‘ ‘

bucket? =
" (@) 535 om®
~ (b) 462.om®
(c) 234 cm®
- (d). 166 cm?

C — SDHY-T-MTH



69.

@ﬁagﬁq@ﬁﬁmﬁs@tmﬁ .

% AR B B 6om &, N T
gﬁmmﬁmm%? |

(®) 96m cm?

- 70,

(b) 69 em?
- () 54n cm?

o ‘(d) 48ncm2'

- ﬂaﬁmﬁ%uﬁaﬁiﬁtgmlzemﬁ

™ & IR @, AR A R s @ o

”ﬁlmmaﬁmmwm

7.

e EE g

S t?

(@) 3000 cm? |
(®) 3600 cm? -

(o) 3744 om?
' -(d) 3777 cm?

.u&ﬁihamf&m

Sy H A 28

'(a)aﬁf*ﬁ“@

®) T

@ a
ORL

2.

L qﬁmqaﬂtr%ﬁ“wmm .
3o 3, < AR g ¥ R p

ﬁﬁ%&aﬁwﬁmﬁaﬂﬁ&q

uﬁmm%l

- zqﬁpmqrﬁmm'
Ak TR p, g of Rromfire wwen -
%Eﬁp,rﬁmmw'_

SDHY-T-MTH C

- g@ﬁﬁﬂﬂm/%mﬂﬁ%/i ?

"(a)aml
) F2

o

(© 1@ 23

(d) T, aé’rz

;‘wa\ttﬁhﬁiﬁitqﬁﬁ“ﬁ'l. |
. -mﬂmw:ﬁrmgﬁﬂagm!h

W wm AT B IR

.mﬁﬁﬂmehlwﬁrmﬁﬁam

e

@ 8

YR
__(c) 10
@ 1

. 7Y

qma:ﬁa%msoom% 3““’53“% -
%’ﬁmm A B TR, R R A

- 7wt g e el A

| afeard afn T s ¥ ok ER

| iﬁfaﬂam%? -
- @ 10
) 14

75

@15
" (@D 17

'.ﬁm@sﬁy,f%wawh% |

IR k=36 y=368 lxaﬂmw

Sl y=sat?
@ 54

(®) 27

ORI



" 9. Aright circular cone has height 8cm.  Which of the abive st#tmems ivare
Ifthemdlusofltsbaselsﬁcm,;hen . ) ;correct? o
what is its total surface area? (@) 1only

@ e T ozay
- " (c) Both 1 and 2

(b) 69% cm? - , o .
' (d) Neither 1 nor 2

‘--(c)'541:m2- S R \
EREE R 73. Radha and Rani dre si Five years - .
(d) 48"“1"2 o » ‘ . back, theage ofRadhastraiﬂ]reet:mes '

_ '.fthatofRam,butaneye&backﬂmeage
- ‘70. Sucubes,eachmth 12cmedgem-e'j . -of Radha was twodimes that of Rani. ~

. Jomedendtoend.Whatlsthesusface - TV‘_;;G“What is the age dlﬁ‘e;ence betwaen :
eareaofresultmgcuboul? : - ]-them? _ o
(a) 3000cm BRI , @) 8 : o
| o e
(c) 374401112 I | BRI ) ,(d) m. o

(d) 3777cm2 o '74.,Apemoncmnes tsouandwantsto,' |
o ' .. buy apples and oranges|out of it. If the-
= oostofoneapplelﬁ!5|andthecostof_»‘
one orange is 7, ‘what is the
numbea'ofwaysmw hapemoncan _
.. buy both’ apples and | oranges usmg
'_"totalamount? :
(@10 -
- Lo - b M
@ Two S @S

) R Ifj:he sum of a ren] number and- 1ts"
recxprocal is %, then how many such
numbers are possible? ‘ _

_ ‘. ,(a) 'None
: '.(b) "Oné_.

(d) Four o . BECR
o R o 75,':G1veny13mVersely yroport
72.@6ns1derthefollomngststemnts o J_ and =36 when'y =
: the vah Of h :54?

L lfplsrelauvelypnmetgeachof o ¢ value xvgmy
©, qand7, then p is relatively prime {a) 54 ,
‘ mtotheproductqr T i) 27

2. X p divides the pmdﬁct"éf and if ey 16 o
~ pdivides g, themp_must divide r. - (d) g

8% . C—'SDHYT-MTH



76..

16+6J_a?la1f11§rw%? : .
(@) 4++7 o

RSN
@ 3447
@ 37

17,

78.

725, s“aﬁtﬂﬁaﬁﬁrmm

w1 & 7 [femm g R : logye2 = 0301,
logy3 = 0477, logg7 = 0-845) .

@ 21,20, 19
() 20, 19, 18

(©) 22,21,20 o

(d) .22, 20, 21

mt»l’rﬁlq x 4% gAH ﬂﬂu;ﬂa:%ﬁ‘ﬁ
W x 14 % R R wman g Y
HT 7N E; M Twaxw 15

frwfia fem s &, o e s B

| ,a.mﬁ_mﬁm@wz?

79.

(@) 20<x<30
® 0<x<40
L © 40‘<x<so:",
.(d)x>50 .

.qﬁﬂwzﬁrﬁﬁraﬂxaﬂtmwgq

1 AR e xS d @ R
- ¥l g 20 e oft wwd @

it € | 2Rk x 3k ¥ Ft W 9w Ru.

s & < arit & w0 of & 15 B ¥

@ .3oﬁ|=|z |

| "_“(b) 4sﬁ|aa

©) 6ofFme

@ ofme

80, P et w fre B -

1. V75 ot g & |

o 2amawwqa:ﬂ,mﬂ=rgyﬂaﬁx%ﬁ;"' |

| 4.4232323.. @r"%mﬁﬁm

.. o Y Wpaﬂt qTE E 1

‘-','mg?ﬁﬁ'&ah%ww%? o
"(a)laﬂ'{Z: R

o) 29k3 :

81.
- dm Ewr 5108, IR g Rt w O

- () 334

@ 23K 4 |
e ¥ AR A o A
240 ¥ 1 wRAR ¥ WKW B TR 30 RA

T o d o R e A
armgaﬁaﬁraﬁaamw%?‘ |

(@ 276

REEIRY S Sy S SN

_ Gﬁ@%ﬁﬁﬁmwaﬂm 7 -

o SDHY-T-MTH

C

A, AT A g A

26

l"(b)282.i,

(@285
@35



76, What is the square root of 16+6+7 7.

@ 44T
® .4'-14»7
(c)-3+4? -
@

. What is the number of digits in 72, 82
and 9% respectively ? [Given log;o2 =

0301, logye3 = 0:477, log;e7 = 0:345]

(@) -21,20,19 .
(b) 20,19,18
© 22,21,20 |
@ -22,'20:21

-

78. Let x be the smallest pomtlve integer
such - that ‘when 14 divides x, the

" remainder is 7; and when 15 divides x,

 the remainder is 5. Which one of the
- following is correct ?

@ 20<x<30
() 30 <x <40

N (c)_‘4(')-<x.<j5_0'
@ x>50

Two taps X and ¥ are fixed to a water
tank. If only X is opened, it drains out

" the. full tank of water in 20 minutes. -
If both X and Y are opened, then they.

drain out the full tank of water in -
‘15 minutes. If only Y is opdned, how -

‘longdoesntaketodramouttheﬁlll_ ‘

tank of water?

2 Thereexls@tsatleastaposmve,:

@ 30 minutes S
(b) 45 minutes
(c) 60 minutes

(@) 90 minutes

, Consider the 'followinﬁ"‘ statements : ..

L -\/ﬁ isa ratibnal‘numbe.r

1

erxsuchthéf—_
integ 5 8-

12

3 =« forallmalvaluesofx

4. 4232323.... éanbéeip,ljessedin o
the form % where p and g are
mtegers S . ’

'Whlch of ‘the above staiements are

correct 7
@ land2

@ 2ad3

(© 3ad 4
@ 2amd 4

81.

Ahbraryhasanaveragemnnberof.
510v1s1torsonSundayand2400nother :

_ days. What is the average number of .

visitors per day in a month of 30 days_

begianing with Safundey 7
@ 276
(©) 285
@ 375

27
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(3)32-'

. 3 - s mﬁmm R R
T -3+x+_1?“""‘”’3“” e b P Tl
' J’+— o . '.(a) _15 P x
o mﬁmm% @ (x+y+z)ﬁh'ﬂa?- L m) <05
‘_.'m%’. : o |
_(a)‘ 6

N () 05

) 8 e : | ' .7 ‘ ' " o 86 'ﬂ'& 10, 623x7593(1052 aﬁ' ﬁ‘n‘ﬁ'ﬂ

C@s L b aam o

ﬁ-@mﬁﬁﬁa@ﬁﬁﬁmﬁ 990 (a) 20
- T H I, R @RI 0% W &
o o dm k@ w wdRwhy
.'ﬁ‘@ﬁﬂmmmmmﬁw ENCE I
- wRwawrd | S (d) 28_: -
(@) l%gﬂ?{ S ,
) 1%Em.
© ‘Tmﬂ‘gﬁ’(
: (d) 0-5% @1 '

sv 3%_ 3‘9iﬁsﬁam%m§m'-
'mtﬁh'ﬂraﬁs%? | < S

(@ 3

- ® 6
| .y.‘mmﬂ@m@a&mmzﬁ .  (¢) -‘7 -
o i e R Sy R ERA R
o mfE R R wmE el (d) 9 '
AR TR 200 A e L .
mmmmﬁw@ﬁm%m_'_'-.'s&wmmqyﬂaﬁ%mﬁmﬁm Lo
. Parow sofme mm e # 1 wRA _.294%|ﬁawﬁammmmt? |
ﬂﬁraﬁmﬁﬂﬁrﬁaﬂmw% T .
(a) 38
b 2:3 | '@ 34
© 3:4 PR (c) 30 - |
@ 4:3 @ 26 i



_ N B SSArealnumberxlsduchthat(x —~x%)
82' Ifﬁ"3+ . T ywherex, yand z. -~ - 1smmumum.Whatlstequal to 2
X+—r _
ytz oo - (@) -1:5 -
'arenaturalmm:lbers,tﬁmwhatls '-“(b)-O-S‘
aty+r)equito? | -

. (a) 6
(b) 7

@8 86 I 10" divides 65x%75°x105% then
: Lo ' _whatmﬂ:elargestvahueofn?

 © 08
@ 15

d 9 o
@2 @
83. A pason sells two_‘itex_hs: eachat -'(b) 22
- Rs. 990, one at & profit of 10% and ‘ '

another at a loss of 10%. What is the . :'(c?) 23 : .:j_
combined percentage of pmﬂt of loss 3 ‘ o
.forthetwoﬁms? Lo - _(d) 28

@ l%_l'oss' S . ‘ 87. Whatlsﬂledlgltm:teumt’splaoeof )
(b) 1%-prbﬁt-' | B the number by 3%_397

© No profit no loss @3
- ®e
@7

@ 0% proft

MItmkesllhomforaGOOthoumey h - o
if 120 km is done by train and the rest - : _(d) 2.0 e
by car. It takes 40 minutes more if : g _

. 200km are covered by train and the 88.‘1‘hesnmofthe#quares offqur-

. rest by car. What is the ratio of speed. - - = consecutive natural numbers is 294.

- of the car to that of the train ? Whatmﬂ:emmofﬂlenumbets?

@32 @33
®2:3 | N O R
© 3.4 Do ".,(c) 30

@ 4:3 o @

I I . C-SDHY-I-MTH



| 89mxz+px+q=0ai'ﬂ\ap3ﬂtq

93,

%mt,ﬁz’tq;eo%lpsﬂt q%nﬁ‘_'

.

@ L2
®» L2
© -1,2.

| @ -1, 2

- .'s'nonﬁaamasiaﬁwﬁgmg"

o f&aa:aaﬁ-ﬂamss%?
@ 1 |
® 2
(© 3
@4

1 91'.zrﬁ:('b"' 6) e T G+ =0

L1 |
o ————— alﬁaimmam
, x2 +5x+10 ‘

22

o
(a) 7

15
®) 7

94 |
. Tag g W W (- z)ﬁ#iﬁ(xu);

(1] 5

Lot = 3) Rt # (o +2) wfet grr

aﬁﬁmﬁqwm%ms 4

L AxwmAE TR ?

@ 8
() 10

@12 |
@15

AR AR AR U A P

| "waﬁmmw%?
@ 36
(b)) 49
@6
.(d) 81- S

' - 92.?!‘& a-\}7+ % ﬁlmﬁ——'m"l HH
- _ 96. ‘
- Pes R+t 2wty

-t
(a)'-2,'_ o
® 3
) 4
@ 7

SDHY-T-MTH - C

,ﬁﬁ%%aﬁ%ﬂﬂmﬂﬁﬂﬁ% ?
N (a) 1=r??ramw%31k=rt?rmw
- (b) o‘ﬂﬁm%ﬁw@m

© ﬂﬁp*q‘éﬁt‘ﬁ"fpﬁ‘(qu B

B

"(d)fqa:aqﬂﬁtrm% -

n%mmmﬁwmm?

(a) 21

30

ECRCN
@0
@ -19



| 89 Thedquatlonxz+px+q 0 has roots. -~ 93. What is the mm:whmva]ue of the
' - express:on 1 ? » S
- x2+5x+§o ECETE

'(51

equaltopandqwhereqaﬁo Whatare
the values of p and q respectlvely?

(a) 1,-2.
® 1,2

L © 42
N (d) 1,2

.Howmanypmtsofnatm'alnumbers

aretheresuchthatﬂ:edlﬁ’erenceof

 their squares s 357
@
®2
@3

ool

" integer, then what “is the mmnmum :

@ 4

If (b —6) is one root of the quadratic -
equation x2— 6x + b =0, wher¢ b is an

' Value of 127
i 36

) 81

I

® 3

© 4

@ 7

31

. -Ifa‘-_'=“'J_ T+443, ﬂi‘enwha_t'is the v‘alue: :

KO}

(@ ;g

15
4 A
2

(©) 1"

94, Ifthemﬁo'_ofﬂwwojrkdbmby G+2)

workers in (x—3) days to the work

doneby(x+4)wor§ersm(x 2) days
1s3 4, thenwhaththevalneofx?,_

@ 8
®) 10
© 12
(d) 15

%thhoneofthcfollowmglsm

correct 7 -
" (a) 1 IS nenther pnme nor composue
(b) Ois neither posmve nor negahve

(c) prquseven,thmpandqare '
alwayseven ‘

(d) fmanmaudhalnumbw

-;96. Whatlsthcsumof Imiegervalucsof '.
n ﬁ)rwhlchuz+l
, square? o

@ 21
®) 19

+92 is a perfect

© 0

@19
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91a§q€ix3+3x=+3x+1 S '-‘w.aﬁﬁ{zi,{b'}r,'a},‘

PrseszeadR . Y={{a),be} W
L R2+5x+4 o Z={a,b {1} ¥ -
B magﬂHM(LCM)W%? | - wmEnnnz s 7
(a) (x+l)3(x+4)(xz_+x+l) . B (@) {a b, c} :

(b) (J""4)(J"-z +x+1) (b) {{a}, {b}, {e}}
(c) (Jn:+l)(:cz +x+1)

C© {0
(d) (x+1)2(x+4)(xz+x+l)
, | (d) ®
| .3 3 3 o
et
%?}3 (. R gl +3x+2g=0F W
o T ‘q’lﬂtﬁaﬁtm%%I@ —®
el R
_ _1— BRI
: (G) 5 | (c) 2 . _
@v - . @3

' SDHVEMTH-C 32




. 97 WhatlstheLCMofthepolynommls ' 99.-1fX={a,{b};b},

B+33+3x+1, o Y= {{a}, b,c} and
;&3_+Sx2+5x+4and - . Z=fa, b, &}
H+5x+4? 0 thenNNNZoquilsto

@ GHIPE+HEE+Fx+1)

| - ® {a, b, c}
() (x+HE+x+1)
e Va2 r el ® (®), @)
@ GHDER+xH)
Y G+ e+ 42 +x J}i)'_ o © (@)

@ 'lcb |
- 98 What is the value of :

G - rE—n) . 100,
-Ny-z-x) - quadntic cquation px’+3x+2=0

@o " the roots. What is the valus of (¢ —4) ?

\numberspandqaresuchﬂlatthe-‘ :

. | . 3
‘ | o) 3 - (@ -1 |
B ®1
@3 o 2

@t @3

3 C-SDHVTMIH

" has —6 as the sum and. the product of
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